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Вариант 2 
 

Математика (Современный менеджер) 

 
После номера задачи в скобках указывается количество баллов, которое ставится за задачу. 

В  задачах 1–4 Вам следует обвести в соответствующей графе правильный ответ. (Если Вы случайно выделили не 

ту клетку, то обведите нужный ответ и напишите его еще раз на полях.) 

 

Задачи Ответы 

1. (2)  Укажите наименьшее из чисел: 
6log 5  6log 12  5log 10  0,2log 0,6  

2. (2)  Найдите наибольшее значение функции 33 3 3x x    

на промежутке [–3;3]. 
1  

8

9
 2  

4

3
 

3. (3)  Число 
3 3

tg tg
2 7 7

  


   
     

   
  равно: 

1

2
  1  0  1  

4. (4)  В треугольнике со сторонами 9, 8 и 7 радиус 

описанной окружности равен: 
3

2 21
 

12 5

7
 

21

2 5
 5,2  

В задачах 5–8 следует записать ответ справа от условия задачи (в пустой графе)  

5. (4)  Укажите область определения функции 
2tg log (3 )  xy x x x .  

 

6. (4)  Решите неравенство 
2

7 2

7 9 5 2x x x


 
.  

 

7. (4)  В геометрической прогрессии все члены 

положительны и сумма первых четырех членов в 

пятнадцать раз больше четвертого члена. На 

сколько процентов второй член прогрессии 

меньше первого?  

 

8. (5)  Решите неравенство 2 2| | | 3 |x x x x   .  



В задачах 9–10 следует справа в соответствующей графе написать ответ, однако дополнительно к этому ниже 

на листе следует записать решение 

9. (6)  Найдите объем правильной треугольной призмы, 

если известно, что в нее можно вписать шар 

радиуса 1.  

 

10. (6)  При каких значениях параметра a  уравнение 
24sin(3 2 ) 3cos (3 2 )x a x a a     имеет решение? 

 

 

 

Математика, решения заданий 9 и 10: 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Обществознание (Современный менеджер) 
 

Социальное измерение научного знания 

Производство знаний — процесс бесконечный. Вряд ли когда-либо наступят времена, когда мы получим 

ключ ко всем тайнам. Разрешение одних загадок будет неизменно ставить перед учеными все новые и новые. Но 

существует ли «чистое знание», стоящее вне добра и зла? 

На протяжении всей истории становления и развития науки одни ее достижения используются во вред, 

другие — на пользу человеку. Общеизвестна история создания и применения ядерного, химического, 

биологического оружия, ставшего причиной гибели миллионов. Таков пример аморального использования 

научного знания. Но другие открытия ученых помогают спасать жизни — так, использование методов генной 

инженерии в сельском хозяйстве позволило частично решить продовольственную проблему, чего невозможно было 

достичь обычными путями. Медицина также переходит на принципиально новый уровень. 

Однако новые открытия ставят и новые проблемы, в том числе и морально-этического свойства. На заре 

атомной физики человеку казалось, что он может выступать в роли наблюдателя, который стоит вне исследуемой 

им и подвергающейся его воздействию Природы. Вскоре, когда стало ясно, что радиоактивное излучение 

смертельно опасно, пришло понимание, что человек не может отойти от природы на почтительное расстояние и 

отстраненно наблюдать происходящее, оставаясь вне зоны досягаемости. Но, осознав в той или иной мере свою 

неотделимость от природы, он все же думает, что может защититься от нежелательных последствий своих 

манипуляций. Однако генная инженерия, например, т.е. прямое и ничем не контролируемое вмешательство в 

эволюцию живой материи, такой возможности, пусть даже косвенной, человеку не оставляет. Сегодня никто не 

может даже приблизительно оценить те последствия, которые повлечет за собой размножение искусственно 

созданной живой материи. Таким образом, наука приобрела качественно новое, до сих пор неизвестное моральное 

измерение. 

Вмешательство в эволюцию живого — не единственное неизвестное в сложном уравнении будущего 

цивилизации. Не менее трудно предугадать развитие другого ключевого процесса, связанного с глобализацией и на 

глазах меняющего картину мира, — речь идет об информатизации. 

Изобретение и внедрение компьютерных технологий, несомненно, отразилось на жизни общества, однако 

не следует думать, что информационная революция приведет к скорой смене цивилизационного развития... Дело в 

том, что в ближайшие 50—70 лет основным источником получения необходимой энергии по-прежнему будут 

невозобновляемые естественные ресурсы – нефть, газ и уголь. Так что развитие человечества в XXI в., скорее всего, 

окажется неотделимым от борьбы за сырье и ресурсы, которая будет вестись посредством информационных 

технологий. Для осуществления же цивилизационного скачка необходим переход на принципиально новый 

источник энергии, топливо будущего. (В. Садовничий) 

Вопросы: 

1. Согласны ли Вы с точкой зрения автора, что производство знаний – бесконечный процесс? 

Аргументируйте свою позицию.  

2. Какие принципы могут стать основой «морального измерения науки»? Используя содержание текста, 

обществоведческие знания и факты общественной жизни, укажите три принципа. 

3. Какой прогноз развития человечества в XXI в. дает автор? С обострением каких глобальных проблем 

связан этот прогноз? Используя содержание текста, обществоведческие знания и факты общественной жизни, 

назовите две глобальные проблемы и объясните их связь с прогнозируемыми автором процессами. 

 

 

 

 

 



44. Tuition at some private universities has risen by 15 percents. 

       __________________________________________________________________________ 

        

45. The prime rate is the rate of interest that a bank will calculate when it lends money to its best clients. 

       ____________________________________________________________________________   

  

46. It is said that Einstein  felt very badly about the application of his theories to the creation of weapons of war.     

       __________________________________________________________________________ 

 

47. Despite of the increase of air fares, most people still prefer to travel by plane. 

       _________________________________________________________________________ 

 

48. Unless the population growth stabilizes, environmentalists predict a worldwide starvation  by the year 2060. 

     ___________________________________________________________________________ 

 

49. Sometimes students fail to score well on examinations because they are too nervous to  concentrate. 

      __________________________________________________________________________ 
 

 50. There is disagreement among industrialists as to whether the products of this decade are inferior to the past.   

       __________________________________________________________________________ 

 

51. The president, with his wife and daughter, are returning from a brief vacation in order to  attend a press conference this afternoon. 

       __________________________________________________________________________ 
 

Question 52 

 

Try the crossword. 

 
 

Across: 1. It’s between two countries; 5. Possessive adj; 7. Over; 8. Sister of your mother;  10. Participle of TO KNOW; 

11. Oxygen; 12. Past tense of COME; 14. Public transport;  17. The day before; 19. You write with this; 20. Person from 

England; 23. Rodent; 24. Cloth;   25. Not above; 27. Opinion; 30. Subtract; take out; 31. More 
 

Down: 1. European country; 2. Adorn; 3. He’s gone … work; 4. Black liquid; 5. My house has four; 6. A lot; 9. You wear 

it round your neck; 13. Greeting to the virgin; 15. Soviet Union;   16. Till; 18. Not difficult to understand; 21. Knob; 

22. English currency; 24. Musical note;  26. You ask questions with this; 28. In 
 

Английский язык (Современный менеджер) 
 

Questions 1-6 

The questions are based on the content of the text. After reading the text, choose the best answer to each question and circle it. 

Answer all the questions following the text on the basis of what is stated or implied in the text. 

The debt crisis affecting many developing countries has had three causes: imprudent management and borrowing by debtor 

countries; imprudent lending by banks; and rising interest rates. The rise in real interest rates to about 6 percent by 1982 increased the 

burden on borrowers 

and completely changed the nature of the debt problem. Such an increase had not been seen previously. In past debt crises, when loans 

were made at fixed rates, real interest rates rose with deflation. But once price levels stabilized, the interest burden would be higher 

only to the extent of the proportional decline in price levels. And it remained quite possible that inflation would eventually reduce the 

burden. In this crisis, though, the real interest rate has risen and stayed high, and inflation has brought no relief. 

During the 1980s, fear of financial loss led U.S. commercial banks to sharply curtail their lending activity in debtor countries. In 

1982, nine large banks had over 250 percent of their capital in loans to developing countries; by mid-1986, the nine banks had reduced 

their activities to the point where they had sufficient equity and reserves to withstand potential losses. Although banks have stabilized 

their positions, many continue to carry developing-country debt at face value. 

Present bank strategies deal with the debt crisis by extending the effective maturity of loans. Although any method that reduces 

the flow of resources from debtor countries will help in the short run, further lending promises little relief to the debt problem. So long as 

real interest rates remain high, developing countries will remain in debt. There are two choices. Either the piecemeal approach continues, 

or some form of debt relief occurs. For years, developing countries have paid the price of low growth and significant falls in real wages 

while making cash transfers to service their debt. Citizens of developing countries are kept at low levels of income for the sake of capital 

gains for banks and their shareholders. With sensible debt relief, developing countries and lending institutions can begin to formulate 

growth-oriented development policies. This should be possible without increasing burdens on taxpayers in lender countries. 
 

1. The primary purpose of this passage is to discuss 

(A) the causes of the debt crisis and potential solutions to it 

(B) the effects of rising interest rates 

(C) American banking in the 1980s 

(D) the future of banking in the U.S. 

(E) economic conditions in developing countries 
 

2. The passage provides information that helps to answer which of the following questions? 

I. Did errors of economic management by developing countries contribute to the debt crisis? 

II. Are steps currently being taken to alleviate the debt crisis? 

III. Do taxpayers in lending countries support the notion of debt relief? 
 

(A) I only 

(B) II only 

(C) I and II only 

(D) II and III only 

(E) I, II, and III 
 

3. Which of the following characterized responses to the debt crisis in the 1980s? 

(A) Increased pressure on debtor countries to pay interest due on loans 

(B) An increase in the percentage of their total capital large banks devoted to foreign loans 

(C) A decrease in the funds designated by banks to cover potential losses 

(D) Reliance by banks on inflationary pressure to reduce debt levels 

(E) A decline in bank lending and an increase in capital reserves 
 

4. The author suggests that methods currently in place for dealing with the debt crisis are inadequate because they 

(A) increase the upward pressure on real interest rates without allowing any opportunity for reduction 

(B) allow real wages to rise at the expense of economic growth in debtor countries 

(C) fail to address problems of mismanagement in debtor and creditor countries 

(D) lessen the immediate burden of debt service but do not promote long-term growth 

(E) sacrifice a reduction of real interest rates for a short-term increase in loan maturity 

 

5. In the passage, the author identifies all of the following as contributing to the current debt crisis EXCEPT 

(A) self-interest on the part of commercial banks 

(B) sustained high real interest rates 

(C) unwillingness of banks to extend the maturation periods of loans 

(D) unwise decisions made by commercial lending institutions 

(E) failure of inflation to reduce the interest burden 
 

6. If the passage were to continue, the next topic the author would logically discuss would most 

likely be 

(A) possible steps which might bring about effective debt relief 

(B) options other than debt relief that might alleviate the debt crisis 

(C) current attitudes of bankers toward international lending 

(D) measures currently taken by debtor countries to reduce inflation 

(E) the effects of 1980s banking activities on debtor countries 

 

 



Questions 7-21 
 

Sort out the two stories by separating them and sequencing the lines. 

Mark your answers in the boxes provided below. 
 

THE RAILWAY TICKET 7. There were eight of us in the carriage, and seven tickets were soon found and punched. 

AESOP’S FABLE 8. A few hours later a mean-looking traveller came down the road, and he too stopped and asked 

Aesop, “Tell me, my friend, what are the people of Athens like?” 

 9. Aesop, the Greek writer of fables, was sitting by the road one day when a friendly traveller 

asked him, “What sort of people live in Athens?” 

 10. “All tickets, please!” said the railway inspector, appearing at the door of the carriage. 

 11. Frowning, the man replied, “I’m from Argos and there the people are unfriendly, mean, 

deceitful and vicious. They’re thieves and murderers, all of them. 

 12. “Funny thing, absence of mind,” said the helpful traveller when the inspector had gone. 

“Absence of mind?” said the old man. 

 13. But the old man in the corner went on searching through his pockets, looking very unhappy. 

 14. Aesop replied, “Tell me where you come from and what sort of people live there, and I’ll tell 

you what sort of people you’ll find in Athens.” 

 15. So he was, and the inspector looked anything but pleased as he hastily punched the mangled 

ticket. 

 16.  Smiling, the man answered, “I come from Argos, and the people there are all friendly, 

generous and warm-hearted. I love them all.” 

 17. Again Aesop replied, “Tell me where you come from and what people are like there and I will 

tell you what the people are like in Athens.” 

 18. “I was chewing off last week’s date!” 

 19. “You haven’t lost your ticket,” said the man next to him, helpfully. “You’re holding it in your 

teeth!” 

 20. At this Aesop answered, “I’m happy to tell you, my dear friend, that you’ll find the people of 

Athens much the same.” 

 21. “I’m afraid you’ll find the people of Athens much the same,” was Aesop’s reply. 

 

THE RAILWAY TICKET  

AESOP’S FABLE  
 

Questions 22-36 

For Questions 22 - 36, read the sentences below and decide which answer A, B, C or D best keeps the meaning of the original 

sentence. Circle the correct answer. 

22. The flowers on the table were a manifestation of the child’s love for his mother. 

A   a demonstration C    a combination   

B   an infestation  D    a satisfaction    

   

23. The director’s spacious new office overlooked the city. 

 A   quiet    C   roomy    

 B   colourful   D   comfortable    

   

24. Mary’s career involved a dual role for her as a counselor and a teacher. 

 A   tiring C   twofold  

 B  dedicated  D   satisfying    

   

25. In that organization, they place emphasis on mutual aid and cooperation. 

 A   reward C    stress   

 B   work   D    pressure   

   

26. The victors defined their terms to the conquered. 

 A    dictated   C    insinuated   

 B    wrote   D    forced    

   

27. That vast region was irrigated by the large river and its many tributaries. 

 A   arid  C    enormous   

 B   miniscule D    damp 

   

28. Marsha found it very difficult to cope with the loss of her job. 

 A    anticipate C   deal with  

 B    think about D   confirm  

   

29. The number of unemployed people in the country is increasing rapidly. 

 A   licensed  C   business  

 B   working D   jobless 

   

30. The company empowered him to negotiate the contract. 

 A   helped  C    authorised   

 B   forbade D    ordered 

   

31. The author wrote with great clarity, not missing a single detail. 

 A   genius C    clearness 

 B   cleverness D    extensiveness 

   

32. Let’s suppose that we are floating in a cool pool on a hot summer’s day. 

 A   imagine  C   succumb   

 B   imply D   suggest 

   

33. Her childhood poverty caused Lucy to be very thrifty as she grew older. 

 A   practicality  C   wealth    

 B   indigence   D   shyness    

   

34. It is inevitable that a smaller company should merge with the larger one 

 A    urgent C    important    

 B    unavoidable D    necessary 

   

35. Mary and John were the recipients of the president’s scholarship for management. 

 A   creators    C   receivers    

 B   donors   D   instigators   

   

36. The old hotel has recently been renovated. 

 A    repainted C    refurnished 

 B    refurbished D    reiterated 

   
 

Questions 37 – 51 
 

Read the sentences below and follow the instructions. 

 In most of the sentences there is a mistake. Some sentences, however, are correct. 

 If the sentence is correct, write correct in the space provided under each sentence. 

 If the sentence is incorrect, identify a word or a phrase that must be changed because  they are either grammatically incorrect 

or do not fit in the meaning of the sentence.  

 Underline the mistake, correct it and write the correct sentence in the space provided under each sentence. 

 

Examples:  1. The fact that the earth rotates wasn’t known until the 1850s. 

                           _________ correct____________   

                    2.  It is impossible to view Picasso’s Guernica  without feeling badly about the fate of the people portrayed. 

                         ________ It is impossible to view Picasso’s Guernica  without feeling bad about the fate   

                        of the people portrayed.____________ 

                    3.  A new automobile needs to tuned up after the first five thousand miles. 

                         A  new automobile needs to be tuned up after the first five thousand miles. 

                    4. The light travels in a straight line.     

                         _______Light travels in a straight line.________________    
    

37. Aristotle  is considered the father of the logic.  

     ____________________________________________________________________ 

 

38.  College students like to entertain theirselves by playing football or basketball after lectures.   

       ________________________________________________________________________ 

 

39. Financial planners usually recommend that an individual save two to five months’ income for emergencies. 

__________________________________________________________________________ 

 

40. In the past, energy sources were thought to be boundless. 

     ________________________________________________________________________ 

 

41. Terrorists are capable to hijacking planes and taking hostages in spite of security at international airports.     

__________________________________________________________________________   

 

42. None of the states in the US but for Hawaii is an island. 

__________________________________________________________________________ 

 

43. Today’s  modern cameras require only a few light as compared with earlier models.  

__________________________________________________________________________ 
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